
Drawing	Bar	Charts	
	
Workout	
	
Question	1:	
(a)		

	
(b)	

	
(c)	



	
Question	2:	
(a)	

	
	
	



(b)	

	
	
(c)	

	
	
	



Question	3:	
(a)	

	
(b)	

	



Apply	
	
Question	1:	
(a)	

	
(b)	305	pints	
	
Question	2:	
	
(a) –	 She	has	not	left	the	same	size	of	gaps	between	the	bars	

- The	bars	are	not	all	the	same	width	
								-	The	height	of	the	Chelsea	bar	
	
(b)	

	
	



Question	3:	
(a) 	

- The	scale	is	not	the	same	the	entire	way	up	the	y	–	axis	
- There	are	no	labels	for	the	bars	on	the	x	–	axis	
- The	height	of	the	red	car	bar.	

	
(b)	

	


